
Description

Ytec3D.com
DRAWN BYUNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: Ra 1.6
TOLERANCES: +/- 0.1mm
   LINEAR: +/- 0.2mm
   ANGULAR: +/- 1

DATE

MATERIAL:

DO NOT SCALE DRAWING

TITLE:

SCALE:1:1

A3

Material <not specified>

Y. de Haas 17-9-2021

HP45CAR-A01-00
HP45 controller V4 carriage

9

7

11

10
10

12

A

A

2

4

8

SECTION A-A

3 1 565

65

Pos. Qty. Drawing title / 
Art. title

Drawing nr. / 
Art. nr.

12 1 Clamp block HP45CAR-P04-00

11 1 Latch arm HP45CAR-P03-00

10 2 Hinge HP45CAR-P02-00

9 1 Main carriage body HP45CAR-P01-00

8 1 Inkjet controller HP45 Standalone V4.00 PCB

7 1 Inkjet printhead HP45

6 4 Hex socket countersunk 
head screw DIN 7991 M4x12

5 6 Prevailing torque hex nut DIN 0985 M4

4 4 Prevailing torque hex nut DIN 0985 M3

3 2 Hex socket head cap screw DIN 0912 M4x20

2 4 Hex socket head cap screw DIN 0912 M3x12

1 2 Washer DIN 0125-1A M4



Description

Ytec3D.com
DRAWN BYUNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH: Ra 1.6
TOLERANCES: +/- 0.1mm
   LINEAR: +/- 0.2mm
   ANGULAR: +/- 1

DATE

MATERIAL:

DO NOT SCALE DRAWING

TITLE:

SCALE:1:1

A3

Material <not specified>

Y. de Haas 17-9-2021

HP45CAR-A01-00
HP45 controller V4 carriage

 44 

 71,6 

 62 

 12,3  12,3 

4,2 (8x)
Hole for M4 0 

 18 (2x) 

 55,5 

 68 
 0

 

 1
2 

(3
x)

 

 3
2 

 12,7  0
 

 8
,2

 

 2
0,

9 

 0 

 20 
 24 

Nozzle location is for 
reference and subject to 
change from head to head

 6
,4

 

 1
00

,5
 

 76,8 

 1
15

,2
 

 15,3 

 5
8,

7 


	Sheet1
	Drawing View1
	Drawing View2
	Section View A-A

	Sheet2
	Drawing View4
	Drawing View6
	Drawing View7
	Drawing View8


